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MATHS SPECIAL ONE WORD TEST — CLASS 12-Vol-1

1. If 4 isa 3x3 non-singular matrix such that 44" = A" 4and B=A4"4", then BB" =
(1) 4 (2) B (3) 1, (4) B'

2.
If .4:[2 D} and B:{] 4] then |adj(4B)|=
1 5 20

(1) —40 (2) -80 (3) —60 (4) =20
3. If 44" is symmetric, then 4° =
(1) 47 (2) (47 (3) 4 @) (47
4. 2 3 , _
If 4= s be such that 247" =4 then A is
(1) 17 (2) 14 (3) 19 (4) 21
5. 1 2 7 3
The augmented matrix of a system of linear equations is (0 | 4 6 | . The system

00 A-7 u+5
has infinitely many solutions 1f

(1) A=7,u=-5 (2) A=-T,u=5 (3) A=zT.u=-5 (4) A=T,u=-5

6.  The area of the triangle formed by the complex numbers z.iz, and z+iz in the
Argand’s diagram is

| 3 i e o
(M 31| @) |z () 3z| 4 2]z
7. At | z|=1, then the value nf:+—i 1S
+=
(1) z 2z (3) = @1

1
8. If z is a complex number such that ze C\R and = +—€eR, then |z]is

(1) 0 (2) 1 (3) 2 (4) 3

9. If (1+i)(1+20)(1+3§) -+ (1 +ni) = x + iy, then 2:5:10-+(1+n") is

(H1 (2) i (3) x +)° (4) 1+n°
10. =+1 @ @
It @ =cis ZTI . then the number of distinct roots of | @ z+@° 1 |=0
@* 1 +@
()1 (2) 2 (3)3 (4) 4

11. If fand g are polynomials of degrees m and n respectively,
and if h(x) =( /o g)(x). then the degree of h is
(1)mn (2) m+n (3) m" (4yn"
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According to the rational root theorem, which number is not possible rational zero of

4x +2x 1027 =57

5 4
1)-1 2)= 3)— 4) 5
(1) ( ]4 ( )5 4
The polynomial x” —kx” +9x has three real zeros if and only if, k satisfies
(Hlkl<6 (2)k=0 (3)Ikl > 6 (4) lkl=6
If X’ +12x° +10ax +1999 definitely has a positive zero, if and only if
(a =0 (2)a =0 (3)a<0 (4)a=<0
The number of positive zeros of the polynomial Z C(-1)x 1s
_.'=ﬂ
(1)0 (2)n (3)<n (4) r
If sin™' x +sin™' y=2?ﬂ'; then cos™ x +cos™ y is equal to
2w m ™
1) =— 2) — 3) — 4) T
(1) 3 (2) 2 (3) . 4)
-1 2:"1' -1 :
If cot xz? for some x e R, the value of tan™ x 1s
m m ™ ™
1) —— 2) — 3) — 4) ——
(1) m (2) 5 (3) o 4) 5
sin~' [tan %] —sin"" 3 =2 Thenx isaroot of the equation
X

() x*—x—6=0 (2) x* —x—12=0 (3) ¥ +x—12=0 (4) xX*+x—6=0

If sin~ X +cosec % = g, then the value of x is

(1)4 (2)5 (3) 2 43
sin(tan ' x), | x|<1 is equal to
X X

1 1
(1) N (2) T 3) fie (4) it

The eccentricity of the hyperbola whose latus rectum is 8 and conjugate axis is equal to half

the distance between the foci 1s

1 2 2) 3) = 43
M3 07 5 OF

The radius of the circle passing through the point(6,2) two of whose diameter arex+y =6

and x+2y=4 1s
(1) 10 (2) 2+/5 (3) 6 (4) 4
2 2

Area of the greatest rectangle inscribed in the ellipse x—j + ';—2 =11s
e

(1) 2ab (2) ab (3) Jab (4) %
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The circle passing through (1,—2) and touching the axis of x at (3,0) passing through the point

(1) (3,2) (2) (2,-3) (3) 3,-2) (4) (-2.5)

The values of m for which the line y = mx +2+/5 touches the hyperbola 16x” —9y” =144 are
the roots of x° —(a+h)x—4 =0, then the value of (a+b) is

(1) 2 (2) 4 (3)0 (4) -2
Ifd-b=b-¢=c-d=0, then the value of [d,h,¢] is

Mlallbliel @ +lal bl 31 @) -1
Ifa=i+j+k, b=i+]j, ¢=i and (Gxb)X& = Ad+ b, then the value of A+ i is

(10 (2) 1 (3)6 (4) 3

If a= 2f+3j'—£, b =f+2}—5kH, c= 3f+5j—ﬁ;, then a vector perpendicular to @ and lies
in the plane containing » and ¢ is

(1) =17i +21j-97k (2) 17§ +21j—123%

(3) =17 =21 +97k (4) —17i —21j - 97k

Distance from the origin to the plane 3x—6y+2z4+7=0 1s

(1) 0 (2) 1 (3) 2 (4) 3
If the planes F.{.?.f—ij + JE} =3 and F.(4 + j —,ukﬁ] =5 are parallel, then the value of A and
M are
(1) ! -2 (2) L 2 (3) 1 -2 (4) 1 2
2’ 2’ 2’ 2’

3k 3 3k %k %k 3k %k 3k %k %k %k %k %k *k
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MATHS SPECIAL ONE WORD TEST — CLASS 12-Vol-2

The volume of a sphere is increasing in volume at the rate of 3wcm’ /sec.

The rate of change of 1ts radius when radius 1s % cm

(1)3 cm/s (2) 2 cm/s (3) 1 cm/s (4) % cm/s

The tangent to the curve y” —xy+9 =0 is vertical when

(1) »=0 @r-+5 @ r=; (4) =23

The number given by the Rolle’s theorem for the function x* —3x°,x €[0,3] is
(1)1 (2) V2 (3) % (4) 2

The curve y =ax" +bx” with ab >0

(1) has no horizontal tangent (2) 1s concave up

(3) 1s concave down (4) has no points of inflection

The minimum value of the function |3—x|+9 1s

(10 (2)3 (3)6 (4)9

A circular template has a radius of 10 cm. The measurement of radius has an approximate
error of (.02 cm. Then the percentage error in calculating area of this template 1s

(1)0.2% (2) 0.4% (3) 0.04% (4) 0.08%

If we measure the side of a cube to be 4 cm with an error of 0.1 cm, then the error in our
calculation of the volume 1s

(1) 0.4 cu.cm (2) 0.45 cu.cm (3) 2 cu.cm (4) 4.8 cu.cm

If £(x)= il , then its differential is given by
X+

-1 1 1 -1
(1) — dx (2) — dx (3) —dx (4) ——dx
(x+1)" (x+1) x+1 x+1
If wix,y,2)= Jr:(}-'—:}+_1-'2[:—x]+:2(1—_}'], then E+ aw - w 1S
dy Oz
(1) xp 1 yz 1 =x (2) x(y 1 z2) (3) y(z 1 x) (4) 0
If g(x,y)= 3x7 — S5v+ 2_}'3*::(1') =¢ and y(f) =cost, then {;r—g 1s equal to
f
(1) 6e™ +5sinf —4costsint (2) 6e —Ssint+4costsint
(3) 3¢” +5sint+4costsint (4) 3¢ —5sint+4costsint

-

3
The value of j
0

_dx 15
V4-9x°

T T T
(1) r (2) 0] 3) ) (4) =
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If f(x)= j;rcnsr dt , then a _

dx

(1)cosx—xsinx (2) sinx+xcosx (3) xcosx (4) xsinx

The value of jﬂﬁ cos’ 3x dx is

2 2 1 1
1) = 2) = 3) = 4) —
(1) 3 (2) 9 (3) 5 (4) 3

The value of f e xdx is

7 5 4 2
1) — 2) — 3) — 4) =
ey @ 5 ©) % @ %

If | f(0)dt=x+[ i (1)t , then the value of £(1) is
1 3
(1) 5 (2)2 (3)1 (4) 1

The differential equation representing the family of curves y = A cos(x+ B), where A and B
are parameters, 1s

(1) %—y:ﬂ 2) j;—ery:D (3) %:n (4) j}—?:ﬁ
The solution of the differential equation 2x 4 v =13 represents
(1) straight lines (2) circles (3) parabola (4) elhpse
The solution of the differential equation % + % =0 is

-X

(1) y4sin'x=c (2) x+sin'y=0 (3) ¥ +2sin"'x=C(4) x*+2sin"' y=0

dv
If sinx is the integrating factor of the linear differential equation d—’} +Py=0,then P1s
X

(1) logsinx (2) cosx (3) tanx {éi} cotx
. . . N ! . dy  ax+3 ) i
If the solution of the differential equation — = represents a circle, then the value of
de 2y+f
ais
(1) 2 (2) -2 3) 1 4) -1

Consider a game where the player tosses a six-sided fair die. If the face that comes up 1s 6, the
player wins ¥ 36, otherwise he loses Tk’ . wherek is the face that comes up k= {1, 2,3, 4, 5}.

The expected amount to win at this game in ¥ 1s

2 2 -2 3) 2 4y -2
()~ @ -~ 3 3 ) -3
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Two coins are to be flipped. The first coin will land on heads with probability 0.6, the second
with Probability 0.5. Assume that the results of the flips are independent, and let X equal the
total number of heads that result. The value of E[X] 1s
(1) 0.11 (2) 1.1 (3)11 (4)1
Suppose th_at A takes on on;: of the values 0, 1, and 2. If for some constant £,
: : . 1
P(X=i)=kP(X=i-1) fori=1,2 and P(X =0)= — . Then the valuc of kis
(1 (2)2 (3)3 (4) 4

2x 0£x<a
If f(x)= . 1s a probability density function of a random variable, then the
0  otherwise

value of a 1s

(1)1 (2)2 (3)3 (4) 4
If in 6 trnals, X 1s a binomial variate which follows the relation 9P(X=4) = P(X=2), then the
probability of success is

(1)0.125 (2)0.25 (3) 0.375 (4)0.75
A binary operation on a set S 1s a function from

(1y§5§—5§ (2) (Sx§)— S (3) S—(5xS) (4)(Sx5)—(SxS)
If axb=+Ja’ +b" on the real numbers then * is

(1) commutative but not associative (2) associative but not commutative
(3) both commutative and associative  (4) neither commutative nor associative

In the last column of the truth table for —(p\V —g) the number of final outcomes of the truth
value 'F'' are

(11 (2) 2 (3)3 (4)4

The dual of = (pVg)V[pV(pA—r)] 1s

(1) =(pAg)A[pV(pA—r)] 2) (pA@A[pA(pV—r)]

(3) =(pAg)A[pN(pATY)] @)~ (pAgAlpA(pV-r)]
The proposition p A{—pV g) 1s

(1) a tautology (2) a contradiction

(3) logically equivalent to p A g (4) logically equivalent to pVvg
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